foy

Name _ Date
(v
LESSON
6.3
Let Ax) = 7xY2 — 2, glx) = —x"2 + 4, and Hx) = —4x"2 + 1.

Perform the indicated operation. [Ij
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1. fx) +g() {7\(‘ =ik (~x2 *L’)" bx?+2 3. hx) + g(0)= (F9x 7-+I)+ (—a().' t4) =
4. fix)—gk)= (7:2’-9.)— - x"'r‘f): 6. gx) — hx)=(-x*+4)- (- x 1) :@

Let Ax) = 4x2, glx) = —3x*3, and Alx) = x'2. Perform the

indicated operation. And state the domai
- 4 _ 2 [_30,+t0
7. fx)+ g00)= (Yx )('3%’) § 'ﬁ,( ) 9. h(x)+ gl - (xl‘)(—Zx
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Let AxX) = 2x+ 3, glx) = x3 ,and Alx) = %5 Perform the

+1
U1, +2)

indicated operation. And state the domain

18, Mg = 2(F )+ 3 - <3] (1)

15, £tz 2( 131)4 3 -8 53

. 17. h(f(x)):(j *9.,5‘ . Zl_i—‘-o
F - g -

x+5 (fdo) + °°)

Let Ax) = 3x+ 2, glx) = 2x3, and Ax) = x_T43' State the domain
of the operation.

n 2 (]
19. f(x) +gx) - (3 )(*29 *’(»2*‘ L) _T\;,?/Xz’fg)( t M

P AR )

2 M _y g
W‘ =y {05 sl
X 25
N

/\hm\(é Wo % e T

$0



K} Date

Name g
LESSON
_ j 64 -
Find an equation for the inverse relation. S
1. y=2x+1 5 y=%~%x 6. p=s+2
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Verify that fand g are inverse functions. (J. )(4.2) _y jé{(r)): 7’_(2){"’) 537!
f@(v)): A(z z ¥ +2
1 - X «Mv-Y
10. f(x) =2x — 4;g(x) =3x + 2 o = X
y) = 3~ (37%)
f@o)): 3-(3-x) J(-C(v S

1. fx)=3-xgx)=3—x ;_\3(—_3”( b 3 |
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12. f()=x2+5x20;g0)=Vx—5 -C(J(x)) = (ﬁfs_" +5 J (—C(i)) W
%(\‘)) - -7t S ;GL‘(\‘)) = l/;—(T

£(y0) =X Oq(m)) = X

v~

Graph the function £ Then use the horizontal line test to determine

whether the inverse of fis a function.
16. f(x) = —x2 +3,x20 17. f(x) = %° 18. f() = |x| +1
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